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The bugs have zero diameter - they are points - but they
Sting if they land on you . They randomly drop vertically from

the ceiling and then can crawl on any surface . However ,

water kills them
.

Your goal : create a barrier that

Keeps ALL bugs away .
You care also allowed to fill

4 coffee cans with water to keep bugs from crawling
up like tins :
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This bug CANNOT reach the person .
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Your barrier cannot be airtight ; The person
must get

air from the ceiling .
water will stop air ( person is not a fish )

.

Obviously your barrier MUST be bigger than The bed
.

Here is a try that fails :



i ; ~
dies

' .li#.Ei-Ei:tEsednitsoIhe'

; barrier
,

crawls along
! the bottom

,
and⇒ drops on the person ! !

Cant ,

get
:

person



P%→→

has
¥-00 y 2 '  -

. N . . k .
. . . ZN

.
O DR :=9r - 9k . i 9

, , = |

Dirt ,
= Snr r= of

P



geoprog
S= a + art ar2+ar3+ . .  . + arm

'

rS= ar + av2+ar3+ .  . .  tear
" ' '

+ arh

n

s - rS= a - ar

Sa - r ) = a - ar
"

S= arrear
- 1



try riess
@ 0

r  .
,

'

.
.  - - a •0 & 2 2N

D= A
,

sirs + r 'S + . .
.  . + run 's = 1

s ( ltrt . .  . .
. + r2N

' '

) = (

slrI.tt-i-s-rr@9N-strstr2st.ne.rN
's

=s( itrtr 't - -
. term ' ) =D ( rfd )



I an = 1-

anIterate
an = rrI÷=¥÷a#



F p=o
•

=\
p F=1

:•yW• i¥ ' ktxttw

.

.

' '
-

.

... ×=z±Y+'zz
.

. •q i.
.

z.co#@*FZ=2gwttzx

• W=t+}y+}z
*

EE ' EE



PennyGame

1969

Martin Gardner
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Cow game St. Petersburg Game

TTH → win $8

H → win 2

T T T T Y T H → WIN $128
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